2. ol T @ &1 S T T WEH-Tn |

3:

SECTION - 1

HINDI

‘afaaa’ | fagau 3 -
(A) W=

(B) ufe=mem

(C) wia=T

(D) ¥ & g

oM faga e &2

(B) swiferm ;)\
(C) WETgHS ( 2y -
(D) qui ferm (1)

< & welres =< H AT el € -
(A) 11
(B) 13
(©) 16

(D) 15

D-0625 (Series-C)
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4.

T T .o B
(A) 9

(B) =

(C) wRrH™ x
(D) i | ﬁaﬂﬁﬂﬁi

SN ) e
(A) sfamm ()N

(B) =

(C) &®
(D) &8

foma & ol T 6 N Fed § 7
SRERIEHER

(B) W

(C) uig

(D) T8 | = e

[PT.O.



7. ‘T ool ¥ -

(A) wga syarh @
(B) T= w1 qW

(©) wfgdta @
(D) ot %1 3 8mn

8. “3few it uw W ve A A" - S | 11

F  fram 7
(A) wEiFmds
(B) wewRTE®

(C) HwmEys
(D) HAREYH

9. 'S TE @A’ - W fo @ v | 12,

-
(A) ey
(B) frufi
(C) w|rd

(D) U™

D-0625 (Series-C)

[4]

10. W % R0 WA U W s g
9

#, 3w wEa §7

‘T AR W AT ® ?
(A) wgsifE

(B) WgEN

(C) HHurRg

(D) &%

R 1 v e -
(A) g

(B) @T%

(C) o=

(D) ¥ & g e



14 T+ A+ R+Y+3A=?
(A) &M
(B) <&
(C) =4

(D) &

15. gwa1 FAN Jrer SYRH S WiE & | 18.

(A) Ffafsh

D-0625 (Series-C)

[5]

16.

17,

Ny 5 S T R A S 1Y €

(A) HTH FHTH H FH
(B) W wa ¥ ¢ &
(C) fewa @rh @

(D) T8 I Al

= %1 Gdyan Seord FEl e 8?7
(A) Frag 4

[P.T.O.



19. Ffafas 4§ § feg v d werg @

TR -

(A) W

(B) TR

(C) 3FR-AR
(D) 9IER

20.
(A) SIS
(B) @M
(C) Ssar=
(D) FMEE=

21. Wonds fran & ey sy R 32
(A) @
(B) =R
Q) =
(D) 3

22. GF AR GETH I AT ?
(A) fardt
(B) fawr
(C) w&H
(D) 9=

D-0625 (Series-C)

"SIl H A el 3T ) e S 7

[6]

23, ‘w1 fasmdt = ¥

24,

25,

(A) HEHMT

‘T e | 9 R T T Ty 3
Q' forE Hh 1 UF § 7

(A)

(B) i

(C) ST

(D) ¥ | =¥ &

RELEC e T oA
BT G 32

(A) T Team

(B) Fverraras gdam

Q) Faras gdam

(D) Hevars gdamy



SECTION -11

Direction Q. No. 26 to 28 :

Select the correctly spelt words.

26. (A) SURMEION
(B) SIRMON
(C) SORMEN

(D) SERMON

27. (A) RISELINCE
(B) RESELENCE,
(C) RESILIENCE

(D) RECELIENCE

28. (A) SUVONIRE
(B) SOUVENIR
(C) SOIVENUR

(D) SVENOUIR

D-0625 (Series-C)

ENGLISH

Direction Q. No. 29 to 30 :

Choose the correct passive voice.

29. T'hope to win the medal,
(A) Thoped that rnedal wrll be won.
(B}_ To -ﬁri-n thee ﬁiédal is hoped by
’ (C) The medal will be won is my
hope.
(D) Itis hoped that the medal will

be won by me.

30. Hate none.
(A) You hate none.
(B) Letnone be hated.
(C) You are not advised to hate.

(D) None of the above

[7] [P.T.O.



Direction Q. No. 31 t0 32 :

Identify the appropriate alternative

from the given option for filling in the

blanks.

32, Walk fast lest you

the train.

(A) would
(B) should
(C) won't

(D) could

D-0625 (Series-C)

........................ you enter my

[8]

Direction Q. No. 33:
Select the correct plural form o f ik,

word given in capital letter

33. LOUSE

(A} Lice
(B) Louses
(C) Liuce

(D) Lices

Direction Q. No. 34 :

Select the correct opposite gender of

the word given in capital letter.

34. WIZARD

(A) Goose
(B) Gander
(C) Witch

(D) Roe



35. The CUHEC&\'E noun for a group of Direction Q. No. 37 to 39:

Choose the correct Antonyms for the

bees flying together is -
words given in capital letters.
(A) Hive
7.
(B) Swarm 37. ASTONISHMENT
(A) Apathy
(C) Group (B) Establishment
(D) Army (C) Amazement
(D) Immersion
Direction Q. No. 36 : 38. LAVISH
(A) Extreme
Select the superlative degree of the
(B Modest
word given in capital letter. (C) Insane
i G (D) Foolish
(A) Outer 39. HARNESS
(B) Outmost (A} Exploit
(B) Neglect
(C) Utmost
(C) Alert
(D) Outermost (D) Previous
D-0625 (Series-C) [9]

[P.T.O.



44 :
tion Q, No. 43 to
Direction Q. No. 40 to 42 : Déreatio
Choose the correct Synonyms for the Choose the most “PPTOprinte
words given in capital letters. Preposition to make sentenc, q
meaningful one.
40. REPULSIVE
(A) Republic
(B) Disgusting 43. Thecountryis......... peace.
C lightful
(C) Delightfu (A) at
(D) Rebuke
(B) in
41. DEVOUT (C) with
(A) Debonair (D) of
(B) Dubious
(C) Destroy
(D) Devoted 44. Thereis a disagreement...........
these two friends.
42. CONFIDE
(A) among
(A) Confirm
(B) Entrust (B) with
(C) Concept (C) of
(D) Confess (D) between,

D-0625 (Series-C) [10]



Direction Q. No. 45 to 46 Direction Q. No. 47 to 48:;
Fill in the blanks with appropriate Choose the correct article and fill in the
Conjunction for the given sentences. blanks to make sense.
45 el . 47. Sheis ........ best singer in our class.
(A) the
(A) then
(B) a
(B) like
(C) an
(Cy than
(D) in
(D) to
48; She has .....copssesmsscsnsissinnaii unique
46. Look................ you leap.
Y i idea.
(A) after (A) an
(B) because (B) the
(C) but (C) a
(D) before (D) None
D-0625 (Series-C) [11] [P.T.O.




Direction Q. No. 49 to 50:

Choose the correct form of Indirect

speech.

49. Shesays, "I shall do my duty".

(A) She told that I shall do my

duty.
(B) She says that she will do her

duty.
(C) She said that she should do

her duty.

(D) None of the above

50. Hesaid, "Alas! I have failed".
(A) He told that he had failed.
(B) He said thatIhad failed.

(C) He said that alas he had

failed.

(D) Heexclaimed with sorrow that

he had failed.

D-0625 (Series-C) [12]



SECTION - 11
MATHEMATICS

51. %mmwfﬁa‘m%» 51. 'l'hvmultipllrnllvninvrrscnl% is -
(A) 1 (A) 1
® 3 ®) >
(©) ";i (©) %
(D) O (D) 0
® _Q
AY

52. 20° &1 JTF H1 & - %&&pplementnry angle of 20°
(A) we is -
(A) 70°

(B) 90°
(B) 90°
C) 180°
2 (C) 180°
(D) 37 H A 1 T (D) None of the above

D-0625 (Serles-C) [13] [P.T.0.



53. sin30°HF1 AH§ -

54.

D-0625 (Series-C)

(A) 5

(B) V2

A 3B i FWHA 1Y AT
3:4 %1598 & 5% ST 37 F I
4:5 9 9 &1 A W GA9H 3G
€2

(A) 15

(B) 20

(C) 25

(D) 30

53.

54.

[14]

The value of sin 30° is -

1
(A) 3

(B) V2

(C) 0

The ratio of present ages of A and
B is 3:4. After 5 years, the ratio
become 4:5. What is present age
of A?

(A) 15

(B) 20

(C) 25

(D) 30



2
55. 0.666...... o q TR 55. Express 0.666...... into {;‘ form.

A 3 5.
99 (A) 99
3

® 3 ®) 3
2

© 3 © 3
] 1

D) %5 (D) =

56. 99 Y I I 74 Fitwd fSqH! | 56. The volume of a cone whose radius

fi 6 cm I S9E 7 cm - is 6 cm and height 7 cm is -
(A) 264 cm3 (A) 264 cm®

(B) 462 cm® (B) 462 cm?

(C) 246 cm? (C) 246 cm?

(D) I H | i3 el (D) None of the above

57. af¢ 5 &all &1 %Y Ged 3 el @ | 57, If the cost price of 5 banana

fosg Tog & eR 8, @ o wiave be equal to the selling price of
T- 3 banana, then the gain percent is -
() 333% (A) B33%
(B) 15% (B) 15%

2
(©) 663% @ 662%
(D) 40% (D) 40%

D-0625 (Serfes-C) [15] [P.T.O.



58. wEYS F AR wIo T ATFA oo

B €

(A) 360°
(B) 180°
(C) 120°

(D) 90°

59. 26 IR 91 HTL.CM. % -
(A) 26
(B) 13
(C) 182
(D) ST § | FI3 7l

60. Ta=fafad &gl =1 "egs s 719 | 60.

-y

-
13,16, 12, 14,19, 12, 14, 13, 14
(A) 12
(B) 14
(C) 13

(D) 16

D-0625 (Series-C)

[16]

59.

58 The sum Df all angles of

quadrilatera] 1S cevereererensnens
(A) 360°
(B) 180°
(C) 120°

(D) 90°

LCM of 26 and 91 is -
(A) 26

(B) 13

(C) 182

(D) None of the above

Find the median of following
numbers -

13,16, 12, 14,19, 12, 14, 13, 14
(A) 12

(B) 14

(C) 13

(D) 16



P ofc Fell TEH F 1% I Hem B

7%1’#1831&13??,&“#@134

(A) 72

() 360
(C) 450

(D) 720

|
g2 (1253 =?

(A) 25
B) 15
() 5

(D) 10

63. 1° x 20 x 30 =1 | & -
(A) 1
(B) 3
(€) 0

(D) 2

0-0625 (Series-C)

[171]

62.

63.

61. 1£11% of a number exceeds 7% of the

number by 18, then the number is -
(A) 72

(B) 360

(©) 450

(D) 720

1
The value of (125) is -

(A) 25
(B) 15
(C) 5

(D) 10

The value of 1° x 20 x 30 s -
(A) 1
(B) 3
€ 0
(D) 2

[PTO.



64.

65.

66.

D-0625 (Series-C)

frm & @ wad o 9 B
T2
(A)
(B)

(€)

= |w wvniw O|lhL

(D)

Iz fav & S i &1 A9 60° AR
70° B N WG S0 1 7Y & -
(A) 180°

(B) 50°

(C) 150°

(D) 80°

I T WHR A0 A nEl T8 (5n+1)
¥ O ST WYW n UG F1 TR
BIT-

(4) 5

(B) g(7+4n)
(C) g(7+5n)

(D) Sl H | & ol

64. Which of the following fractigp, s

65.

66.

[18]

the smallest ?
(A)
(B)

(&

—
w)
o

If the two angles of a triangle are 6(0°
and 70° then third angle will be -
(A) 180°

(By 50°

(C) 150°

(D) 80°

If n** Term of the A.P. is (5n+1),
then the sum of first n terms of the

A.P.is-
(A) 5
(B) 5(7+4n)
(o) g—(?+5n)

(D) None of the above



67. fag3i A (2,1) 3B (3,2) dd=a® | 67.

gl 7 F |
(A) 2
(B) 5

€) V2
(D) W H A HIE &

68. cot(90° —0)=
(A) sin®
(B) cos6
(C) tan®

(D) cot6

69. e Tewglis =a aiftis Tafea ermal | 69.

@ e ufar Bl -

(A) A=P[l + .l[lio)n

(B) A=P+SI

© A=P[I + %)n

(D) 39 & | FI5 TEI

D-0625 (Series-C)

[19]

68.

Find the distance between the
points A (2,1) and B (3, 2).

(A) 2

(B) 5

Q@ V2

(D) None of the above

cot (90° — 0) =
(A) sin0
(B) cos®
(C) tan 6

(D) cotB

The total amount when compound

interest is compounded annually is-

(A) A =P(1 + l_l;ﬁ)“

(B) A=P+8I
R n
(C) A=P[l + EEE)

(D) None of the above

. [P.T.0.



70. ﬁn.ﬁs)’ - (0. |_6_)F -

(A) .65

(B) .63

(C) .54
(cu'mﬁﬁairﬂaﬁiqﬁ

¥ 'n'mnﬁammﬂﬁtxaa,

§x 2™ =32
(A) 4
(B) 2
(€) 1

(D) 0

105" +25%x 5" B
. 3xsﬂ+2+10x5n+l

) 5
® 3
© 3
D) %

D-0625 (Serles-C)

[20]

71.

72.

] 70. ‘j(ﬂ.ﬁﬁ)* il AUR L) B

(A) .65
(B) .63
(C) .54

(D) None of the above

Find the value of 'y’ when,
85 2M2 =32

(A) 4

(B) 2

(C) 1

(D) O

10x 5™ +25x 5" _
Ix 52 +10x g+l

10
(A) 3

]
(B) 5
© 3

)



73. 14 cm fr @ g9 @ R eedt - | 730 The circumference of a circle
(A) 44 cm whose radius is 14 cm is -
(B) 21 cm (A) 44 cm
(C) 63 cm (B) 21 em
(C) 63 cm
D) 88 cm
(©) (D) 88 cm
74. fiama GHIHA ax” +bx+c=0 H &I | 74. The product of roots of quadratic
EFI'{IUH‘FFIE"{HI%— equation ax’ +bx+c=0is-
¢ c
(A) 2 (A)
b
i B —
®) - ()
b 2
© 7 ©)
a a
@) 3 D) 3
FE el |l qﬂﬂﬁ'ﬂﬁ'@ﬁ'@ﬁﬂ'ﬂl 75. evreeseeessensrnnnsns 15 the longest chord
AT of a circle.
(A) for=n (A) Radius
(B) ufify (B) Circumference
(C) =™ (C) Diameter
D-0625 (Series-C) [21) [P.T.O.




}

SECTION -1V
GENERAL AWARENESS

76. i M’ F1 TS HA g7
(A) SEe 2015
(B) WAt 2015
(C) == 2015
(D) 31T 2015

77. aduE # wa & faRw wfes &E | 77.

€2

(A) TH. JATH

(B) fasmw firsit
mmmew
©) i A Es'léﬂﬁ

78. TeHrae Wy & WuW US4 & | 78.

q?

(A) 4t gt Mg

(B) st o= awi

(C) #i fera warg yem
(D) it Ta.wher

D-0625 (Series-C)

[22]

76. When was 'NITI Aayog' formed?

(A) January 2015
(B) February 2015
(C) March 2015

(D) April 2015

Who is at present the Foreign
Secretary of In@_iq ?

(A) S-Jaishankar >

{18 Wikram Misri

" ’V{C) Rajesh Kumar Singh

(D) None of the above

Who was the first Governor of
Himachal Pradesh ?

(A) Sh.Surender Nath

(B) Sh.Virender Verma

(C) Sh.Shiv Pratap Shukla

(D3 Sh.S. Chakravarti



80.

81.

D-0625 (eries- )

i ﬁmaagﬁmiﬁémﬁ%nnﬁ%ﬁmgﬁmﬁ
q@A€?
() 02

(B) 10
(C) 05

(D) 04

et g’ Fel W feaa §2
(A) Irefera

(B) T

(C) feyor IR

(D) ST SR

‘s e wfean fea foa
(34

(A) =

(B) Wi

(C) TR

(D) fw=iR

[23]

80.

79. How many members are there for

Lok Sabha from Himachal Pradesh?
(A) 02

(B) 10
(C) 05

(D) 04

Where are 'Rockey Mountains'
situated?

(A) Australia

(B) Europe

(C) South America

(D} North America

81. 'Amtar' CricketStadium is located

in which district ?
(A) Chamba

(B) Solan

(Cy Hamirpur

(D) Kinnaur

[P.T



82, AR <EId B Y& A B T4

83.

84.

'D-0625 (Series-C)

# Wity @ WRa B HHA Q FA
R 99 ?

(A) 50

(B) 52 9

(C) 514

(D) 53 4

fawin § ‘wia feam sken’ &4
g 7?7

(A) 1942

(B) 1940

(C) 1939

(D) SW § @ F¢ &

ICC wifgen &1-20 =€ =9 2024 foem
Stan ?

(A) ¥RA

(B) sfeferan

(©) Favs

(D) =eivs

82.

83.

84.

[24]

As the Chief Justice of the Supreme
Court, Sanjeev Khanna became the

Chief Justice of India.

-----------------

(A) 50 th
(B) 52nd
(C) 51 st
(D) 53 rd

When did 'Pajhota Peasantry
Movement' take place in Sirmaur?
(Ay 1942

(B) 1940

(C) 1939

(D) None of the above

Which team emerged champion of
the ICC Women's T20 World Cup
2024 ?

(A) India

(B) Australia

(C) England

(Dy New Zealand



85.

86.

87.

D-0625 (Series-C)

e’ @S e
(A) T T

(B) THER

(C) Ve wIe

(D) T e

‘Tigel’ FIME Ty o § feem
¥?

(A) TerEET

(B) HEA el

(C) TR

(D) Herss

33 of warg it 99, 2025 | fFa 1=
A Sl ?

(A) fE=m =M

(B) fem

(C) s1m

(D) A=

85. Who discovered cell 7

86.

87.

[25]

(A) Robert Clark
(BY Robert Hooke
(C) Robert FFrost

(D) Robert Kelin

In which state is 'Kandla' port
situated ?

(A) Rajasthan

(B) Madhya Pradesh

(@) Gujarat

(D) Maharashtra

Which state won the 337d
'SANTOSH TROPHY'in 20257
(A} West Bengal

(B) Bihar

(C) Assam

(D) Meghalaya

[P.T.0.



88. T & T -1 9 ST 2025 H qof

89.

90.

D-0625 (Series-C)

T w9 1 fam (BRICS) # wifte
B2

(A) 3SHferm

(B) <™

(C) &1

(D) <i&m sthrem

(A) 1876
(B) 1877
(C) 1875
(D) 1872

¥ W Ja M (UPSC) 3 steaw
=t Fryfem =9 % &2

(A) Wy

(B) Tgufa

(C) =T

(D) TETsst

88.

89.

Which country recently joineq
BRICS as a full membe, in
2025 ?

(A) Indonesia

(B) China

(C) Russia

(D) South Africa

When was the Indian Meteorological
Department (IMD) established ?
(A) 1876

(B) 1877

(Cy 1875

(D) 1872

90. Who appoints the Chairman of

[26]

(UPSC) Union Public Service
Commission?

(A) Prime Minister

(B} President

(C) Governor

(D) Chief Minister



o1, TSI Sefaw T 2028

92.

93.

D-0625 (Series-C)

S W ?
(A) @ T
(B) wigH

(C) =

(D) afwa

WIGTg FaUA & 6 A 7= THE
& Hfusr' J Fafvd €2

(A) 3IT=< 12 9 35

(B) =R 25 ¥ 28

(C) #T=< 29 ¥ 30

(D) 31{=% 14 ¥ 18

15 31 1948 T TEwT=e Y31 & THA
fopa el ot framrel =1 et faman
=1 ?

(A) 32

(B) 31

(C) 30

(D) I9F H F HI &

91.

92

93.

[27]

Who will organize Summer
Olympic Games 2028 ?

(A} Los Angeles

(B) London

(C) Paris

(D) Tokyo

Which articles of the Indian
Constitution deals with 'Right to
Equality'?

(A) Article 12to 35

(B) Article 25 to 28

(C) Article 29 to 30

(D) Article 14 to 18

On 15th April 1948, Himachal
Pradesh was formed by merging
how many princely states?

(A) 32

(B) 31

(Cy 30

(D) None of the above

[P.T.0.



94, ‘wreeh wiet e WRAeE - A | 94, On which  river s tLap;

WA TS & 7 Hydroelectric Project’ built?
(A) Fagst T (A) Satluj River

(B) =d (B) Beas River

(C) T R (C) Ravi River

(D) ot (D) Chenab River

95. WAl 7T i Ta% "7’ fFed wrd | 95. From where is the Malaria disease

ot &2 medicine 'Quinine' obtained ?
(A) SIS H I A (A) From Pine tree

(B) Wi g& 4 (B) From Sal tree

(C) fa=r= g9 | (C) From Cinchona tree

(D) 390 # | IS & (D) None of the above

96. ‘fe AT faferaa’ fiFa™ & @ @A | 96. Who is the author of the book 'The

$7 Great Rebellion' ?
(A) sreyfd Ug (A) Arundhati Roy
(B) 3wl Wedl (By Ashok Mehta
(C) fasm T - (C) Vikram Seth
(D) Hew TS 3= (D) Mulk Raj Anand

D-0625 (Series-C) [28]



98.

99.

D-0625 (Series-C)

g St fead’ wa wAE S
?

(A) 21 sFad

(B) 25 e

(C) 20 Sl

(D) 24 SFadl

el & 3TeadA 1 o FEd © 2

97. Which vitamin is required for the

98.

99.

[29]

clotting of blood ?
(A) Vitamin Bl
(B) VitaminD
(C} VitaminK

(D) Vitamin E

Which day is celebrated as 'National
Girl Child Day'?

(A¥ 21% January

() 25" January

(C) 20™ January

(D3} 24" January

The study of bones is called -
(A) Neurology

(B) Gynaecology

(C) Nephrology

(D} Osteology

[PTO.



100. ‘ fyren weie’ =1 AR A gsn 2 | 100. When was '‘Shimla conference!
(A) 1940 organised?
(A) 1940
(B) 1942
(B) 1942
(C) 1941 (©) 1941
(D) 1945 (D} 1945

*hkkhk



